
Math R3  Review for final Practice H 

1 Which is not rational?  −3,   4.56,   √12 , 3.565656 … , 3
7

8
 

 
 

2 If 𝑥 = −3  𝑎𝑛𝑑 𝑦 = −2  𝑒𝑣𝑎𝑙𝑢𝑎𝑡𝑒 |𝑥 − 𝑦| 
 
 
 

3 Find the first three decimals in the expansion of 
5

7
  

 
 
 
 

4 3[4 − (3 − 7)] + 2 ∙ 3 + 10  
 
 
 

5 (4𝑥7𝑦5)2

12𝑥4𝑦12
=  

 
 
 

6 (4𝑥 + 3)2 =  
 
 
 
 

7 (𝑥 − 3)(2𝑥2 + 3𝑥 − 5) =  
 
 
 
 

8 Factor :  16𝑥2 − 25𝑦2 
 
 
 
 

9 
Simplify:  

18𝑥5𝑦4−12𝑥7𝑦3

6𝑥5𝑦3
 

 
 

10 12𝑥2

𝑥2−5𝑥+6
∙

3−𝑥

6𝑥3
=  

 
 



Answers: 

1 √12 
2 1 
3 . 714 

4 40 
5 4𝑥10

3𝑦2
 

6 16𝑥2 + 24𝑥 + 9 
7 2𝑥3 − 3𝑥2 − 14𝑥 + 15 
8 (4𝑥 + 5𝑦)(4𝑥 − 5𝑦) 

9 3𝑦 − 2𝑥2 
10 

−
2

𝑥(𝑥 − 2)
 

 


